Calcul Mental
(Serie de 20 calculs)



127 + 99 =



123 + 101 =



347 - 98 =



167 - 102 =



70 x 90 =



70 X 8 =



5x108 =



6 X 99 =



Le double du tiers de 12 ?



10

La moitie du triple de 8 ?



196 + 75 + 4 + 25 =



97 + 113 + 3 -13 =



50 X9 x 2 =



180 : 30 =



275 +27 - 7?7 =300



80 x ? =560



17

6 est le tiers du double de ?



63
+ 79

=140



2 74







Correction



127 + 99 =



123 + 101 =



347 - 98 =



167 - 102 =



70 x 90 =



70 X 8 =



5x108 =



6 X 99 =



Le double du tiers de 12 ?



10

La moitie du triple de 8 ?



196 + 75 + 4 + 25 =



97 + 113 + 3 -13 =



50 X9 x 2 =



180 : 30 =



275 + 27 - 2 =300



80 x = 560



17

6 est le tiers du double de



63

=140



2 74







